1800 WIDE PANELS

"3

1

M 76 x 32 x 0.55mm top plate

M 76 x 32 x 0.55mm top plate

1800 WIDE PANELS

M 76 x 32 x 0.55mm top plate

[ T T —— 1 i N } | | ] i
| \
3 | | H | | ./ | | | | |
W 1
i | | | | | /] | | H | | | |
IL'M/ Roof truss | | I | | I } } } | | | | |
: | | I | | 171 276 x 32 x 0.55mm (24GGE) || | | | |
39 . | | I } [ [ [ | | | [
-—\\ } } H \ } H HEAD: 200x1.6mm plate one H } } } }
M8 bolt | } | ] } | side of frame. Fix to frame | | | | |
pd N \ | i | \ 1 with four(4) rivets at each 1 | ‘ | \
10mm bolt 55wide x 1.5mm | } ! } } i end and two rivets at each i } \ | }
angle bracket | | I \ \ | intermediate stud and at 150mm I | } } \
o \ \ H } } a crs. to plate. Omit plate where I \ \ \ \ .
Double studs — } } i . | |  trusses are not located over i } } } . } %
| M |76 x 32 {‘ 0.55mm npggings | X openings. X | M 76 xi32 x 0.55mm|[noggings ‘ =
************************ I I -
\ \ 1 \ [ I [ \ \ \ \ Q
| i | Boxed stud at eac 0
TRUSS HOLD DOWN | | I 76 x 32 x 0.55mm |.— side of opening P | | | N
| } i lipped channel stud i i } | } }
| | ] sections @ 450mm crs. I 76 x 32 x 0.55mm noggings [ \ \ \ \
\ | I \/ \‘ e - | \ | \
| | I | | [ | | \ [ | [
| \ H | | I \ \ } I I[*———76 x 32 x 0.55mm ‘
} } | } } H } } | H } lipped channel stud sections }
| | I } \ | } | ! i } at 600mm crs. I
\ \ I \ } I \ I| Cut boxing section || \ \ | \
| | I | | | } | 300mm short top || } | | |
\ \ H \ | I \ i| and bottom. I \ } } \
| | | | | :: | | N | | | |
\ \ I \ ‘ L \ \ \ L \ \ \ \
| | I | [ [ | | | | | \ | [
| | I | | | | | | | | \ \ [
| | [ | | | | | | | | | j [
N NF N NF NF 77L17§677x7327;70.75757m7r;7(24GGE) plate NF
75 x 75 x 1.5 bracket L L I L 1 L L L L 1 L L L 1
/bolted through stud with 10mm bolt
H LOAD BEARING PANEL LOAD BEARING PANEL NON—-LOAD BEARING PANEL
Bottom plate EXTERNAL WALL WITH OPENING INTERNAL WALL
= 76 x 32 x 0.55mm
LOCATION OF HOLD DOWNS HOLD DOWN TYPE
\tM10x65mm tsc:{tlew bolltb AT ENDS OF BRACING PANELS (UNO) Nominal
o a concrete floor slab or
No. 14 tek screw to a floor joist AT ENDS OF SHEET BRACED PANELS Structural
AT ENDS & ©1800cc OF DOUBLE SIDED STRAP BRACES| Structural @ 1800cc
NF_— NOMINAL HOLD DOWN 32 UNDER TRUSS LOCATIONS Nominal
0.55mm EITHER SIDE OF OPENNINGS (JAMB STUDS) Nominal
o material AT PANEL JOINTS Nominal
~ E/ AT 1200 CENTRES (MAX) ON EXTERNAL WALLS 50mm Screw Bolts
AT 1200 CENTRES (MAX) ON INTERNAL WALLS 50mm Screw Bolts
DESIDE LARGE OPENNINGS WITH SHS JAMBS Structural
WALL STUDS
ALL MEMBERS TO BE OF G450 STEEL (Min yield strength of 450MPa)
NF — NOMINAL HOLD—DOWN COMPRISES OF 75 x 75 x 1.5mm BRACKETS BOLTED TO FRAME
WITH M8 BOLTS & FIXED TO CONCRETE SLAB WITH M10 x 65mm SCREWBOLTS.
SF — STRUCTURAL HOLD—DOWN COMPRISES OF 75 x 75 x 5.0mm BRACKETS TEK SCREWED
NOTE: TO A JOIST OR BLOCKING WITH ONE No. 14 TEK SCREW AND A 37 X 0.8mm GAL STRAP
1) LOADBEARING STUDS MUST BEAR DIRECTLY OVER A FLOOR JOIST OR ON A CONCRETE SLAB FIXED TO STUD AND BEARERS WITH 2/No. 14 TEK SCEWS AT EACH END.
2) ALL WALL FRAMING MATERIAL INCLUDING ROOF BATTENS TO BE G550 STEEL (Note: TEK SCREWS AT EACH END NOT NEEDED FOR BRICK OR BLOCK VENEER)
3) FRAMING HAS BEEN DESIGNED FOR N1—-N4 & C2 WIND AREAS IN ACCORDANCE WITH AS4055 FIX ANGLE BRACKET TO CONCRETE SLAB WITH M10 x 75mm SCREWBOLTS.
and AS/NZS4600 COLD FORMED STEEL STRUCTURES
4)  TRUSSES ARE ONLY TO BEAR DIRECTLY OVER DOUBLE WALLS OR WINDOW HEADS REFER TO DRAWING 106535—2 FOR BRACING DETAILS
5) ONLY ONE HOLD DOWN FIXING IS REQUIRED AT EACH JUNCTION CL|ENT P L HOMES
PTY Member of: SCALE NTS DRAWING NUMBER
KNEEBONE, BERETTA & HALL ™ IS 55— STEEL WALL & ROOF FRAMING
A.C.N 002 419 767 . T
CONSULTING STRUCTURAL & CIVIL ENGINEERS A5NS4, ———=——WALL FRAMING DETAILS 106535—1

4 MACQUARIE AVENUE, PENRITH NSW 2750

CONSULT AUSTRALIA

PHONE: (02) 4731 3833 Directors:
Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081
GROUP E-MAIL address: office@kbhallengineers.com.au  Peter R ANDRESEN BE, MIE Aust, CP Eng NER

DESIGNED

TB Hall

N1—N4 & C2 WIND AREAS

A\ ’ APPROVED /AWM

STEEL STUD WALL FRAMING

ISSUE

B




1800 WIDE PANELS

M 76 x 32 x 0.55mm top plate

1800 — 3000 WIDE PANELS L

30 x 0.8mm strap cross bracing ]
rivet to studs where shown thus +’

[ ———— i —— o e ——— T ———— 7

H-37 x 0.9mm
strap cross bracing
rivet to studs where
shown thus’+’

I 7

as per detail

Fix strap in corners
with 3 10—16 tek screws
or 3 x 3mm rivets

AN

Lipped channel
sections @ 450mm crs.

e

+

/ /

Lipped channel
stud sections
+ at 600mm crs.

\

30" to 60°

NF \Smm hooked rod turnbuckles NF NF

AN

Use 75 x 75 x 1.5 brackets on all corners

Nominal fixing (NF) to floor and frame.
External wall shown, studs at 600mm for internal.

PAAL STANDARD BRACING PANEL

-]

| —Double studs

55 wide x 5.0mm

10mm bolt angle bracket
(o]
—-—1°¥H __i_
39 . : Bottom plate
N L39]] No. 14 screw to joist
o ’\" (]
37 x 0.8Bmm Gal. hold down straps
Bearer 19 fixed to stud & bearer with 4/No 14 screws

FLOOR HOLD DOWN (STRUCTURAL)

Metal tensioners as needed. NF
Use 75 x 75 x 1.5 brackets on all corners
Nominal fixing for single sided strapping
Structural fixing for double sided strapping
internal wall shown.

STRAP BRACED PANEL

Double studs

55 wide x 5.0mm

angle bracket Flooring

No. 14 tek screw to joist

/‘/ i
Bearer

FLOOR HOLD DOWN (STRUCTURAL)

™

TIMBER/STEEL FRAMED FLOORS

/10mm bolt

37 x 0.8mm Gal.
fixed to stud &

900 x 0.8mm galv sheet braces. Fix to one

side of panel with 3mm steel blind rivets

spaced at 200mm cts to all studs and track.

\

\

SF

Use 75 x 75 x 1.5 brackets on top corners

SF

Use 75 x 75 x 5 brackets at bottom

Structural fixing (SF) to floor as shown.

METAL SHEET BRACED PANEL

NOTES
1)

Framing details to be in accordance

v

37 x 0.9mm strap bracing
tensioned with turnbuckles
and bolted behind "L” brackets

75 x 75 x 1.5 bracket
bolted through stud with 10mm bolt

Bottom plate
76 x 32 x 0.55mm

NF

M10 x 65mm screw bolt
to concrete floor slab or
No. 14 tek screw to a floor joist

— NOMINAL HOLD DOWN

.7

30 x 0.8mm
Strap bracing

Fix strap in corners
with 3 10—16 tek screws
or 3 x 3mm rivets

Bottom plate
NF or SF (If double sided)

STRAP BRACED DETAIL

with NCC 2022 Vol.2 H1D6(3)

Requirements for wall bracing to be calculated in accordance with
the requirements of AS40585 for the

2)

relevant wind area.

Bracing as detailed to constitute at least 40% of the raking forces.

The remainder may be obtained by nominal bracing provided by
plasterboard secured in accordance with the manufacturer’'s

bearer with

hold down stra

4 te

specifications.

Eg SCrews

BRACE TYPE WIDTH RESISTANCE| HOLD—DOWN

PAAL STANDARD 1.8m 2.75 kN/m Nominal

SINGLE STRAP 1.8-3.6m | 2.7 kN/m | Nominal @ 1800cc

DOUBLE STRAP 1.8—3.6m | 5.4 kN/m | Structural @ 1800cc
0.9 SHEET BRACEH 0.9m 4 kN Structural

1.8 SHEET BRACEH 1.8m 10 kN Structural @ 900cc

REFER TO DRAWING 106535—3 FOR N4 & C2 AREAS FOR WALL FRAMING FIXING DETAILS

CLIENT: PAAL HOMES

.»n KNEEBONE, BERETTA & HAL

CONSULTING STRUCTURAL & CIVIL ENGINEERS

4 MACQUARIE AVENUE, PENRITH NSW 2750

PHONE: (02) 4731 3833

GROUP

E-MAIL address:

office@kbhallengineers.com.au

Directors:

Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081
Peter R ANDRESEN BE, MIE Aust, CP Eng NER

A.B.N 36 822 442 203

STEEL WALL & ROOF FRAMING
WALL FRAMING DETAILS
BRACING DETAILS FOR N1-—N4, C2 wind areas

DRAWING NUMBER

106535—-2

E%( Member of: SCALE NTS
A.C.N 002 419 767 > DATE 27.04.23
CONSULT AUSTRALIA | DRAWN J Blaikie
\ DESIGNED TB‘ Hall
N b / WM )\

STEEL STUD WALL FRAMING

ISSUE




NOTE

|| _For snow areas with Sg greater than 0.5kPa

provide 2M10 Hollo—Bolts to posts

—

2700 max

LINTEL — Refer to table below

2M8 x 50mm Hollo—Bolts
to post securing 4mm 250 grade

mild steel galvanised bracket

Provide M8 bolt top and bottom
connecting lintel to bracket

POSTS — SHS 75x75x3\

/PAAL steel wall framing.

M8 bolt to post

M10 x 65mm Screwbolt to

L75x75x5 bracket /

concrete floor slab or
M10 bolt through a floor bearer

OPENING WIDTH W

LINTEL SIZE
WIDTH W max | Sg = 1.5 kPa max | Sg = 2.6 kPa max
2400 mm RHS 125x75x3 RHS 125x75x4
3000 mm RHS 125x75x4 RHS 125x75x5
3600 mm RHS 125x75x5 150 PFC

ALL BOLTS GRADE 8.8S

DESIGN LOADING
1. METAL CLAD ROOFS maximum truss span = 9.0m
2. WIND AREAS — N1 to N4 & C2 AREAS IN ACCORDANCE WITH AS 4055

3. SNOW LOADS Sg — Ground Snow loading as specified by AS1170.3.2003
Design based on a minimum roof pitch of 20°

ISSUE A — 6.10.22 — Design includes snow loads Sg up to 2.6 kPa

PAAL HOMES Phone

02 4735 4377

PTY Member of: SCALE 1:20 @ A3 sheet DRAWING NUMBER
KNEEBONE, BERETTA & HALL & "2 P22 || INTELS OVER EXTERNAL WALL OPENINGS
CONSULTING STRUCTURAL & CIVIL ENGINEERS AN ss e rer s 77N\ R TBH 106662—1
4 MACQUARIE AVENUE, PENRITH NSW 2750 CONSULT AUSTRALIA N1 to N4 & C2 WIND AREAS — AS 4055
PHONE: (02) 4731 3833 Directors w :::m\:::o LI, - ISSUE
WEBSITE: kbgconsulting.com Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081 (
GROUP E-MAL : ofﬁ%e@kbrt]alsl;engineers.oom.au PelerRANDRESEN( BE.) MIE Aust, CP Eng NER ° Wﬁ% / ‘ STRUCTURAL DETAILS




48

12
TOP CHORD 50| All material thickness 1.9mm TRESS SPACING
G450 steel. 30~ ROOF PITCH
ROOF WIND GROUND TRUSS SPACING
BOTTOM CHORD & 4O|_| COVERING | LOAD SNOW mm
WEB SECTIONS 10

LOAD Sg

- ASA055 | AS/NZS 1170.3 [SPAN ’S’ = 8.1m max.[S’ = 9.0m max

0.75mm G350 steel roofing METAL N1=N3 Zero 1800 1800
battens continuous over at
least two spans at 1200max.

centres spacing to suit cladding. METAL N1—-N3| 0.1 — 1.5kPa 1800

900

—Refer to manufacturer’s
specifications. METAL N1—N4 | 1.6 — 2.6kPa 900 900
#10 Tek screw METAL N4, C2 Zero 900 900

braced by battens and plaster board or similar lining.

¢ Notes — Design applies only where bottom chord is Ilaterally
A\
|

Roofs to be properly braced and trusses secured
M6 bolt against uplift to suit the area conditions.
45
ROOF BATTEN DETAIL Z M8 HIGH STRENGTH 8.8/s GRADE
66 M Provide washers below nuts in chord/web connections.
Scale  1:5 L40x30x1.9mm
fixed to each member.
d N 0.75mm G550 steel roofing
battens continuous over at
L%Ox30x1.9mm - least two spans at 1200max.
Diagonals & verticals. Q centres spacing to suit cladding.
— N/ 1\ [/ e | m—  p—— w—— —Refer to manufacturer’s
- specifications.
50x48x1.9mm
Top chords
d
600 %L \
wo* g
. LT T —— T T = T T * "\J' T 0 '-D.' 3 T '\J" * T T = T T = T LT :
Secure ends to studs L40x30x1.9mm 2 JL's 30x40x1.9mm 29mm PAAL furring
with 8mm diameter bolts. bottom chord 5/M8 bolts. Provide channels at 450crs.
washers below heads
Steel batten —= & nuts.
S = 9000max.

TRUSS DETAIL

CLIENT: PAAL HOMES
KNEEBONE, BERETTA & HALL & Mt et NS ISTANDARD STEEL WALL & ROOF FRAMING
CONSULTING STRUCTURAL & CIVIL ENGINEERS 181245 £ &% —| STEEL ROOF TRUSSES 106535-10
4 MACQUARIE AVENUE, PENRITH NSW 2750 CONSULT AUSTRALIA | >RAN u o o .
SHONE. (02) 4731 3833 - " = DESGNED 1B Hall 9000mm max. span — 20 to 30" roof pitch
. T;:/ztroBrsr:iALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081 V APPROVED ISSUE
GROUP E-MAIL address: office@kbhallengineers.com.au  Peter R ANDRESEN BE, MIE Aust, CP Eng NER MAIN TRUSS DE-I-AIL N1 —N4’ C2



AutoCAD SHX Text
bottom chord

AutoCAD SHX Text
L40x30x1.9mm

AutoCAD SHX Text
Provide washers below nuts in chord/web connections.

AutoCAD SHX Text
M8 HIGH STRENGTH 8.8/s GRADE

AutoCAD SHX Text
with 8mm diameter bolts.

AutoCAD SHX Text
Secure ends to studs

AutoCAD SHX Text
600

AutoCAD SHX Text
0.0000

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
50x48x1.9mm

AutoCAD SHX Text
ROOF BATTEN DETAIL

AutoCAD SHX Text
12

AutoCAD SHX Text
Diagonals & verticals.

AutoCAD SHX Text
L40x30x1.9mm

AutoCAD SHX Text
Top chords

AutoCAD SHX Text
Scale   1:5

AutoCAD SHX Text
M6 bolt

AutoCAD SHX Text
45

AutoCAD SHX Text
12

AutoCAD SHX Text
45

AutoCAD SHX Text
30

AutoCAD SHX Text
fixed to each member.

AutoCAD SHX Text
L40x30x1.9mm

AutoCAD SHX Text
+

AutoCAD SHX Text
0.0000

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
specifications.

AutoCAD SHX Text
centres spacing to suit cladding.

AutoCAD SHX Text
least two spans at 1200max.

AutoCAD SHX Text
battens continuous over at

AutoCAD SHX Text
0.75mm G550 steel roofing

AutoCAD SHX Text
-Refer to manufacturer's

AutoCAD SHX Text
#10 Tek screw

AutoCAD SHX Text
WEB SECTIONS

AutoCAD SHX Text
BOTTOM CHORD &

AutoCAD SHX Text
TOP CHORD

AutoCAD SHX Text
G450 steel.

AutoCAD SHX Text
All material thickness 1.9mm

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
10

AutoCAD SHX Text
48

AutoCAD SHX Text
50

AutoCAD SHX Text
12

AutoCAD SHX Text
specifications.

AutoCAD SHX Text
centres spacing to suit cladding.

AutoCAD SHX Text
least two spans at 1200max.

AutoCAD SHX Text
battens continuous over at

AutoCAD SHX Text
0.75mm G550 steel roofing

AutoCAD SHX Text
-Refer to manufacturer's

AutoCAD SHX Text
Roofs to be properly braced and trusses secured

AutoCAD SHX Text
braced by battens and plaster board or similar lining.

AutoCAD SHX Text
Notes - Design applies only where bottom chord is laterally

AutoCAD SHX Text
TRUSS DETAIL

AutoCAD SHX Text
& nuts.

AutoCAD SHX Text
washers below heads

AutoCAD SHX Text
5/M8 bolts. Provide

AutoCAD SHX Text
2

AutoCAD SHX Text
S = 9000max.

AutoCAD SHX Text
+

AutoCAD SHX Text
38

AutoCAD SHX Text
59

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
's 30x40x1.9mm

AutoCAD SHX Text
L

AutoCAD SHX Text
L

AutoCAD SHX Text
channels at 450crs.

AutoCAD SHX Text
29mm PAAL furring

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
66

AutoCAD SHX Text
45

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
against uplift to suit the area conditions.

AutoCAD SHX Text
Steel batten

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
C Liu

AutoCAD SHX Text
TB Hall

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
26.7.24

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
106535-10

AutoCAD SHX Text
CLIENT:

AutoCAD SHX Text
MAIN TRUSS DETAIL N1-N4, C2 

AutoCAD SHX Text
STEEL ROOF TRUSSES

AutoCAD SHX Text
PAAL HOMES

AutoCAD SHX Text
9000mm max. span - 20 to 30 roof pitch

AutoCAD SHX Text
o

AutoCAD SHX Text
ROOF PITCH

AutoCAD SHX Text
TRUSS SPACING

AutoCAD SHX Text
30

AutoCAD SHX Text
o

AutoCAD SHX Text
900

AutoCAD SHX Text
900

AutoCAD SHX Text
'S' = 9.0m max

AutoCAD SHX Text
SPAN 'S' = 8.1m max.

AutoCAD SHX Text
TRUSS SPACING mm

AutoCAD SHX Text
0.1 - 1.5kPa

AutoCAD SHX Text
1.6 - 2.6kPa

AutoCAD SHX Text
METAL

AutoCAD SHX Text
METAL

AutoCAD SHX Text
N1-N4

AutoCAD SHX Text
N1-N3

AutoCAD SHX Text
900

AutoCAD SHX Text
1800

AutoCAD SHX Text
COVERING

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
LOAD

AutoCAD SHX Text
WIND

AutoCAD SHX Text
LOAD Sg

AutoCAD SHX Text
SNOW

AutoCAD SHX Text
GROUND

AutoCAD SHX Text
STANDARD STEEL WALL & ROOF FRAMING 

AutoCAD SHX Text
AS4055

AutoCAD SHX Text
AS/NZS 1170.3

AutoCAD SHX Text
NTS

AutoCAD SHX Text
Max

AutoCAD SHX Text
1800

AutoCAD SHX Text
Zero

AutoCAD SHX Text
METAL

AutoCAD SHX Text
N1-N3

AutoCAD SHX Text
1800

AutoCAD SHX Text
Zero

AutoCAD SHX Text
METAL

AutoCAD SHX Text
N4, C2

AutoCAD SHX Text
900

AutoCAD SHX Text
900

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
o

AutoCAD SHX Text
B


9000 max

le

|‘ roof width
——support beam as specified in table
slab edge — (when load bearing)
-\ / ALFRESCO BEAM SIZES
| f
| 100x100x4 SHS
| steel columns wto N3 SUPPORT BEAM SPAN
| :
: [
:; : ROOF WIDTH Beam Span "A" max
8 i B support beam as (max.) 3.6m 4.5m 5.4m 6.3m
U) 2
= ! g specified in table AREAS WITH NO SNOW LOADING
1] |
@ o: 4.50m 125x75x3 RHS 125x75x3 RHS 150 PFC 150 PFC
N
T
& o 6.30m 125x75x3 RHS 125x75x3 RHS 150 PFC 150 PFC
! truss direction
I 7.50m 125x75x3 RHS 150 PFC 150 PFC 180 PFC
; [
HOUSE WALL | 9.00m 125x75x3 RHS 150 PFC 150 PFC 180 PFC
holse ffa AREAS WITH GROUND SNOW LOADING Sg =0 to 1.5 kPa
75x75x3 SHS in frame 4.50m 125x75x3 RHS 125x75x5 RHS 150 PFC 180 PFC
PLAN— ALFRESCO AWNING 6.30m 125x75x3 RHS 150 PFC 150 PFC 180 PFC
7.50m 125x75x5 RHS 150 PFC 180 PFC 200 PFC
9.00m 125x75x5 RHS 150 PFC 180 PFC 200 PFC
600 dia AREAS WITH GROUND SNOW LOADING Sg = 1.6 to 2.8 kPa
4.50m 125x75x5 RHS 150 PFC 180 PFC 200 PFC
100x100x4 SHS —e
steel column 6.30m 150 PFC 150 PFC 180 PFC 230 PFC
o . a \ . ) 7.50m 150 PFC 180 PFC 200 PFC 230 PFC
\/ a4 - \ 90x80x70(high)x5mm 200 min
o // LU b =2 95 Mpa concrete U-bracket 9.00m 150 PFC 180 PFC 200 PFC 230 PFC
8 ? 9 \ s - \
~ gg \// SR TN P \ M12mm bolt o
\/ e 2 x 12mm galvanised ' g .+ 9 []* #—<—4T— 2/M12mm dynabolt to conc.
/ 4 LT threaded rod through Sl o lel Min embeddment = 90mm
3 / T / post 07_!!‘_<4 _'_4'7 PR Design suitable for a metal clad roof with a lined ceiling
~ . T NN Loe T in N1 to N3 wind areas in accordance with AS4055:2021.
/ e
/\ //\ //\ /
READ IN CONJUNCTION WITH PAAL HOMES DETAILS
Column detail - embedded Column detail - surface fixed
Queensland Registration : Trevor B Hall RPEQ 5081
CLIENT: PAAL HOMES PTY LTD
PTY Member of: SCALE NTS DRAWING NUMBER
p, KNEEBONE, BERETTA & HALL% ‘== [=- s ISTEEL FRAMING DETAILS
A.C.N 002 419 767 —" i M
CONSULTING STRUCTURAL & CIVIL ENGINEERS 25052555 00 =N e Ieeie|ROOF WIDTH to 9.0m maximum 106535-21
4 MACQUARIE AVENUE, PENRITH NSW 2750 CONSULT AUSTRALIA .
PHONE: (02) 4731 3833 Directors: , DESIGNED T.B.Hall FOR N1 to N3 wind areas
Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081 APPROVED ISSUE
GROUP E-MAIL address: office@kbhallengineers.com.au  Peter R ANDRESEN BEg, MIEAustt, cP Eng NER /M STEEL ALFRESCO/CARPORT DE-rAIL



AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
J.Blaikie

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
STEEL FRAMING DETAILS

AutoCAD SHX Text
ROOF WIDTH  to 9.0m maximum

AutoCAD SHX Text
106535-21

AutoCAD SHX Text
CLIENT:

AutoCAD SHX Text
STEEL ALFRESCO/CARPORT DETAIL

AutoCAD SHX Text
PAAL HOMES PTY LTD

AutoCAD SHX Text
27.3.23

AutoCAD SHX Text
T.B.Hall

AutoCAD SHX Text
FOR N1 to N3 wind areas

AutoCAD SHX Text
NTS

AutoCAD SHX Text
PLAN- ALFRESCO AWNING

AutoCAD SHX Text
Ridge

AutoCAD SHX Text
READ IN CONJUNCTION WITH PAAL HOMES DETAILS

AutoCAD SHX Text
Queensland Registration  : Trevor B Hall  RPEQ 5081

AutoCAD SHX Text
HOUSE WALL


roof trusses

sheet metal roofing

support beam

to table

VJ:

UJ

C-Bracket fixed to
column with -

3 - M8 'Hollo-bolts'
for all PFC beams
2 - M8 'Hollo-bolts'
for all RHS beams
up to 125 deep

roof trusses

sheet metal
roofing

62x62x85x3mm
galvabond bracket

fixed inside column
with 2xM8 8.8s bolts
Bracket to finish
flush with top of

column

45mm

40

i

gable end roof truss

b
2

0/
40mm

S

100x100x4 SHS
steel column

Eave beam detail - Beam only

Eave beam detail - With infill panel

UJ 0J
Gable end truss fixing over column
¢ 'Paal' steel stud & track (where applicable)
infill panel
©
O. C-Bracket fixed to
support beam ——— o column with -
to table = 3 - M8 'Hollo-bolts' M8 8.8s bolt — support beam
for all PFC beams top & btm to table
2 - M8 'Hollo-bolts'
100x100x4 SHS o for all RHS beams =
steel column up to 125 deep C-Bracket fixed to ———e s
column with - e

3 - M8 'Hollo-bolts'

for all PFC beams
2 - M8 'Hollo-bolts'
for all RHS beams
up to 125 deep

Queensland Registration: Trevor B. Hall RPEQ5081

Beam fixing detalil

\—65 wide x 5mm gal steel
C-bracket

100x100x4 SHS
steel column

Design suitable for a metal clad roof with a lined ceiling
in N1- N3 & C2 wind areas in accordance with AS4055:2021.

CLIENT: PAAL HOMES PTY LTD

KNEEBONE, BERETTA & HALL M P {STEEL FRAMING DETAILS MG TOMEER
CONSULTING STRUCTURAL & CIVIL ENGINEERS 5\ 56 692 44 20 o usfkmm e =R ALFRESCO ROOF WIDTH 4.5m to 9.0m 106535—22
PHONE: () a3t sags e T oesoeo TeHal |FOR N1 to N4 & C2 wind areas

GROUP E-MAIL address: office@kbhallengineers.com.au II:::EBAFILAE)LQEEECN“;E)YI\;:E:ﬂ:tt: gl‘z:g EESRPEQGOM APPROVED /WM STEEL ALFRESCO/ CARPORT DE-I-AILS e



AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
TBH

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
STEEL FRAMING DETAILS

AutoCAD SHX Text
ALFRESCO ROOF WIDTH 4.5m to 9.0m

AutoCAD SHX Text
106535-22

AutoCAD SHX Text
STEEL ALFRESCO/CARPORT DETAILS

AutoCAD SHX Text
PAAL HOMES PTY LTD

AutoCAD SHX Text
27.3.23

AutoCAD SHX Text
T.B.Hall

AutoCAD SHX Text
FOR N1 to N4 & C2 wind areas

AutoCAD SHX Text
NTS

AutoCAD SHX Text
Queensland Registration: Trevor B. Hall RPEQ5081

AutoCAD SHX Text
CLIENT:


AREAS WITH SNOW LOADING N1—N3 WIND AREAS
GROUND SNOW LOADING Sg=1.6 to 2.8 kPa

VERANDAH | RAFTERS SIZE | HIP RAFTERS SIZE | RAFTERS SPACING
WIDTH

1500—1650 C10012 C10012 900
1700-2400 C10019 C10019 900
2450—2750 RHS100x50x3 | RHS100x50x3 900

AREAS WITH SNOW LOADING N1—N3 WIND AREAS
GROUND SNOW LOADING Sg=0 to 1.5 kPa

RAFTERS SPACING

al

Verandah width

40x30x1.9 wall

L

Post spacing

L

RHS 150x50 ve;londoh head

Posts

batten
N\

SHS 90x90x2

Rafter spacing

Rafter

Rafter:

Wall frame

Note:

For N4, C2 and 3.6m wide verandah,
use 100x65x1.5mm nesting channel

fixed to wall frame as per detail shown
on drawing 106535—27 instead of wall

RHS 150x50 verandah head

GROUP

E-MAIL address: office@kbhallengineers.com.au

4 MACQUARIE AVENUE, PENRITH NSW 2750
PHONE: (02) 4731 3833

Directors:

Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081
Peter R ANDRESEN BE, MIE Aust, CP Eng NER

CONSULT

DESIGNED Tl? Hall

VERANDAH ROOF FRAMING — 3.6m MAXIMUM WIDTH

N A
APPROVED /WW

DETAILS FOR N1 — N4, C2 WIND AREAS

VERANDAH RAFTERS SIZE | HIP RAFTERS SIZE SNOW LOADING batten.
WIDTH £ M8 bolt
Sg= 0 to 0.75 kPa|Sg= 0.76 to 1.50 kPa S \
1500—-1650 C10010 C10010 1800 900 PLAN = 40x30x1.9 wall batten H
Roofing and ceiling battens not shown =
1700-2400 C10012 C10012 1800 900
2450—3000 10019 10019 1800 900 NOTE —
This drawing to be read arter
in conjunction with PAAL
INSTALLATION MANUAL
AREAS WITH NO SNOW LOADING Verandah width
VERANDAH RAFTERS SPACING
WIDTH RAFTERS SIZE HIP RAFTERS SIZE WIND AREA _ = 'PAAL’ steel roofing battens
N1 — N3 N4, C2 L Ly 2/#12 x 20 screws to rafters
1500-1650 C10010 C10010 1800 900 o Rafters 2#14—20x22 screws
< per rafter
1700—-2400 C10010 C10012 1800 900 L~
M8 bolt to wal™
2450—3000 C10019 C10019 1800 900 studs @ 900 crs ] /
RHS 100x50x3 for Steel rafters fixed to T
3050—-3600 C10019 N1 — N3 wind areas 1800 900 40x30x1.9 wall batten ,
100PFC for N4—C2 areas with M8 bolts Verandah lining fixed to
ceiling battens at 450mm crs
FRAMING DESIGNED TO SUPPORT METAL CLAD ROOFS WITH CEILING LINING
IN ACCORDANCE WITH THE REQUIREMENTS OF AS 4055 & AS/NZS 1170.2 & 3 i RHS 150x50 verandah head |
SECTION Posts SHS 9Ox90x2/N_
DESIGN ENGINEER Trevor B.Hall  Bsc (Eng), FIE Aust, CP Eng NER RPEQ 5081
PTY Member of: scae  1:20 , 1:50 | PAAL KIT HOMES PTY LTD DRAWING NUMBER
A KNEEBONE, BERETTA & HALL LTD ; DATE 30.3.23 113-115 RUSSELL ST EMU PLAINS NSW Ph 02 4736 4377
CONSULTING STRUCTURAL & CIVIL ENGINEERS  ££3502455%, e[ TBH STEEL FRAMING FOR DWELLINGS 106535—-24

ISSUE



AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
TBH

AutoCAD SHX Text
TB Hall

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
30.3.23

AutoCAD SHX Text
DATE

AutoCAD SHX Text
1:20 , 1:50

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
PAAL KIT HOMES PTY LTD

AutoCAD SHX Text
STEEL FRAMING FOR DWELLINGS

AutoCAD SHX Text
106535-24

AutoCAD SHX Text
VERANDAH ROOF FRAMING - 3.6m MAXIMUM WIDTH

AutoCAD SHX Text
DETAILS FOR N1 - N4, C2 WIND AREAS

AutoCAD SHX Text
113-115 RUSSELL ST EMU PLAINS NSW Ph 02 4736 4377

AutoCAD SHX Text
IN ACCORDANCE WITH THE REQUIREMENTS OF AS 4055 & AS/NZS 1170.2 & 3

AutoCAD SHX Text
FRAMING DESIGNED TO SUPPORT METAL CLAD ROOFS WITH CEILING LINING

AutoCAD SHX Text
Rafter

AutoCAD SHX Text
Verandah width

AutoCAD SHX Text
Rafter

AutoCAD SHX Text
Wall frame

AutoCAD SHX Text
40x30x1.9 wall batten

AutoCAD SHX Text
M8 bolt

AutoCAD SHX Text
Hip Rafter

AutoCAD SHX Text
Hip Rafter

AutoCAD SHX Text
40x30x1.9 wall batten

AutoCAD SHX Text
Rafter spacing

AutoCAD SHX Text
Wall frame

AutoCAD SHX Text
RHS 150x50 verandah head

AutoCAD SHX Text
Posts SHS 90x90x2

AutoCAD SHX Text
Post spacing

AutoCAD SHX Text
RHS 150x50 verandah head

AutoCAD SHX Text
Verandah width

AutoCAD SHX Text
VERANDAH 

AutoCAD SHX Text
RAFTERS SPACING  

AutoCAD SHX Text
WIND AREA

AutoCAD SHX Text
WIDTH

AutoCAD SHX Text
N1 - N3

AutoCAD SHX Text
N4, C2

AutoCAD SHX Text
RAFTERS SIZE

AutoCAD SHX Text
HIP RAFTERS SIZE

AutoCAD SHX Text
1500-1650

AutoCAD SHX Text
1700-2400

AutoCAD SHX Text
2450-3000

AutoCAD SHX Text
3050-3600

AutoCAD SHX Text
C10010

AutoCAD SHX Text
C10010

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
AREAS WITH NO SNOW LOADING

AutoCAD SHX Text
VERANDAH 

AutoCAD SHX Text
RAFTERS SPACING  

AutoCAD SHX Text
SNOW LOADING

AutoCAD SHX Text
WIDTH

AutoCAD SHX Text
Sg= 0 to 0.75 kPa

AutoCAD SHX Text
RAFTERS SIZE

AutoCAD SHX Text
HIP RAFTERS SIZE

AutoCAD SHX Text
1500-1650

AutoCAD SHX Text
1700-2400

AutoCAD SHX Text
2450-3000

AutoCAD SHX Text
C10010

AutoCAD SHX Text
C10010

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
AREAS WITH SNOW LOADING  N1-N3 WIND AREAS

AutoCAD SHX Text
GROUND SNOW LOADING Sg=0 to 1.5 kPa

AutoCAD SHX Text
Sg= 0.76 to 1.50 kPa

AutoCAD SHX Text
C10012

AutoCAD SHX Text
C10012

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
C10019

AutoCAD SHX Text
C10019

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
VERANDAH 

AutoCAD SHX Text
RAFTERS SPACING  

AutoCAD SHX Text
WIDTH

AutoCAD SHX Text
RAFTERS SIZE

AutoCAD SHX Text
HIP RAFTERS SIZE

AutoCAD SHX Text
1500-1650

AutoCAD SHX Text
1700-2400

AutoCAD SHX Text
2450-2750

AutoCAD SHX Text
C10012

AutoCAD SHX Text
C10012

AutoCAD SHX Text
900

AutoCAD SHX Text
AREAS WITH SNOW LOADING  N1-N3 WIND AREAS

AutoCAD SHX Text
GROUND SNOW LOADING Sg=1.6 to 2.8 kPa

AutoCAD SHX Text
C10019

AutoCAD SHX Text
C10019

AutoCAD SHX Text
900

AutoCAD SHX Text
RHS100x50x3

AutoCAD SHX Text
900

AutoCAD SHX Text
RHS100x50x3

AutoCAD SHX Text
C10010

AutoCAD SHX Text
C10019

AutoCAD SHX Text
C10019

AutoCAD SHX Text
C10012

AutoCAD SHX Text
C10019

AutoCAD SHX Text
RHS 100x50x3 for

AutoCAD SHX Text
N1 - N3 wind areas

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
1800

AutoCAD SHX Text
900

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
Rafter

AutoCAD SHX Text
Rafter

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
Steel rafters fixed to

AutoCAD SHX Text
ceiling battens at 450mm crs

AutoCAD SHX Text
Verandah lining fixed to

AutoCAD SHX Text
2/#12 x 20 screws to rafters

AutoCAD SHX Text
'PAAL' steel roofing battens

AutoCAD SHX Text
Rafters

AutoCAD SHX Text
100PFC for N4-C2 areas

AutoCAD SHX Text
40x30x1.9 wall batten

AutoCAD SHX Text
with M8 bolts

AutoCAD SHX Text
RHS 150x50 verandah head

AutoCAD SHX Text
Posts SHS 90x90x2

AutoCAD SHX Text
2#14-20x22 screws 

AutoCAD SHX Text
per rafter

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
This drawing to be read

AutoCAD SHX Text
%%UNOTE

AutoCAD SHX Text
INSTALLATION MANUAL

AutoCAD SHX Text
in conjunction with PAAL 

AutoCAD SHX Text
studs @ 900 crs

AutoCAD SHX Text
M8 bolt to wall  

AutoCAD SHX Text
%%UNote:

AutoCAD SHX Text
For N4, C2 and 3.6m wide verandah,

AutoCAD SHX Text
use 100x65x1.5mm nesting channel 

AutoCAD SHX Text
fixed to wall frame as per detail shown

AutoCAD SHX Text
on drawing 106535-27 instead of wall

AutoCAD SHX Text
batten.


'Paal' steel roof trusses

colorbond sheet metal roofing

fix rafter to nesting channel
with 2/ 14g x 22mm

tek screws per rafter 45mm 'Paal’ top hat battens fixed to rafters

with 2 /12g x 20mm tek screws per rafter

Y C100 steel rafters at

100x65x1.5mm - e — 1800 max centres.
nesting channel fixed | [l —————==se. ot Fix to top plate with

towall framewith | | 0 Ty =

1/ 8mm hi-ten bolt and / ---------- 5 e{rg?t :r22mm tek screws
1/14g x 22mm tek fibre cement or
screw at 900c/s plasterboard /
lining fixed to top plate fixed to —150x50 RHS
32mm deep post with 4 / 12g x 65mm steel verandah top plate
ceiling battens. tek screws per post to table
battens at
'Paal' steel —— 450 c/s max
wall frame
| 3.6m max. -

(refer to table)

—— 90x90x2mm SHS steel

verandah posts
90x90x1.9mm gal steel

post support fixed to
concrete slab with
2/ 75x10mm screw
bolts per post

concrete slab to engineer's detail 4/|

verandah section
'un-boxed' verandah top plate

fix post to post
support with

6/ 12g x 20mm tek
screws per post

(3 per side)

—_—

50mm to
slab edge (min.)

NOTE - REFER TO ENGINEERS DETAIL 106535-24 FOR RAFTER SIZE AND SPACING

DESIGN ENGINEER Trevor B.Hall  Bsc (Eng), FIE Aust, CP Eng NER RPEQ 5081

up to
post spacer bracke VERANDAH TOP PLATE SPAN N3
VERANDAH | 150x50x2mm 150x50x3mm
WIDTH MAX. POST SPACING | MAX. POST SPACING
4/12g x 65mm AREAS WITH NO SNOW LOADING
tek screws to
verandah top-plate | yp to 2400mm 3600 6000
\,\° 2450 - 3600mm 3000 4000
N
150x50 RHS AREAS WITH GROUND SNOW LOADING Sg=0to 1.5 kPa
verandah top-plate
90x90x2mm SHS up to 2400mm 3300 4500
verandah post
2450 - 3600mm 2500 3000
typical post to top-plate connection AREAS WITH GROUND SNOW LOADING Sg = 1.6 to 2.8 kPa
up to 2400mm 1800 2400
2450 - 3600mm 1200 1500
90x90x2mm SHS
top-plate /_verandah corner post
support <}> top-plate support bracket )
bracket - / ™ fixed to corner post with Iafterl btrack.?r’: gx/e;jzto
1| . 3/12g x 20mm tek screws P P1aie Wi gx
20mm tek screw =S—
gits ' N
1 s 'y e
top plate post bracket
fixed to top plate with 6 J 150x50 RHS
/ 12g x 20mm tek * steel verandah top plate
screws per top plate to table
150x50 RHS verandah top-plate
fixed to support bracket with /
3/12g x 20mm tek screws top plate post bracket fixed
corner post to top-plate connection to post with 4 / 12g x

20mm tek screws per post

boxed verandah option

top plate fixing

N4
VERANDAH TOP PLATE SPAN c2
90x90x2 SHS B 50x50x1.9 steel | 90x90x2mm PAnPAR :nf)? )ngsoTXir:::::G Jlf)? ):Sngirll::G
verandah post angle :piice SHS verandah WIDTH ) )
90x90x1.9mm gal steel— Fix to post and post AREAS WITH NO SNOW LOADING
post support fixed to supporting column
floor framing with with 6 / 12g x 20mm up to 2400mm 2700 4000
4/ 12g x 50mm tek screws o 0 © tek screws each
per post 0oo { ‘o 2450 - 3600mm 2000 2700
10
T IN . N[ # °
AREAS WITH GROUND SNOW LOADING Sg=0to 1.5 kPa
{ O
10
| i° i_ up to 2400mm 2700 4000
edge bearer
L g 2450 - 3600mm 2000 2700
. . edge 1
solid blocking between bearer 90x90 SHS | \REAS WITH GROUND SNOW LOADING Sg = 1.6 to 2.8 kPa
floor joists as required supporting
column
. . up to 2400mm 1800 2400
fixing to framed floor fixing to sub-sfloor
90x90 support pier 2450 - 3600mm 1200 1500

KNEEBONE, BERETTA & HALL ¢ o

CONSULTING STRUCTURAL & CIVIL ENGINEERS 5\ 36 622 443 205 — 4

4 MACQUARIE AVENUE, PENRITH NSW 2750 CONE?LT AF,’,STRALIA

PHONE: (02) 4731 3833 Directors: ——
GROuUP Trevor B HALL BSc (Eng), FIE Aust, CP Eng NER RPEQ 5081
E-MAIL address: office@kbhallengineers.com.au  Peter R ANDRESEN BE, MIE Aust, CP Eng NER

SCALE 1:20 , 1:50

DATE 30.3.23

DRAWN TBH

DESIGNED 7 TQKHO” .

PAAL KIT HOMES PTY LID
113—115 RUSSELL ST EMU PLAINS NSW Ph 02 4736 4377

STEEL FRAMING FOR DWELLINGS

VERANDAH ROOF FRAMING — 3.6m MAXIMUM WIDTH

DRAWING NUMBER

106535-27

APPROVED Ww

DETAILS FOR N1 — N4, C2 WIND AREAS

ISSUE



AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
TBH

AutoCAD SHX Text
TB Hall

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
30.3.23

AutoCAD SHX Text
DATE

AutoCAD SHX Text
1:20 , 1:50

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
PAAL KIT HOMES PTY LTD

AutoCAD SHX Text
STEEL FRAMING FOR DWELLINGS

AutoCAD SHX Text
106535-27

AutoCAD SHX Text
VERANDAH ROOF FRAMING - 3.6m MAXIMUM WIDTH

AutoCAD SHX Text
DETAILS FOR N1 - N4, C2 WIND AREAS

AutoCAD SHX Text
113-115 RUSSELL ST EMU PLAINS NSW Ph 02 4736 4377


	106535-10B Main Steel Truss Detail 9000mm 20° -30° pitch.pdf
	Sheets and Views
	Model


	106535-21 Steel Alfresco & Carport Roof Detail 4.5m to 9.0m for N1 to N3 wind areas_.pdf
	Sheets and Views
	Model


	106535-22_Steel Alfresco  Carport Roof Detail 4.5m to 9.0m for N1 to N4 and C2 wind areas_.pdf
	Sheets and Views
	Model


	106535-24_Verandah Roof Framing 3.6m max width N1 - N4 & C2.pdf
	Sheets and Views
	Model


	106535-27_Verandah Roof Framing 3.6m max width N1 - N4 & C2.pdf
	Sheets and Views
	Model





